$$D(f) = R(\bar{f}')$$

 $R(f) = D(\bar{f}')$

$$y = f(x) = x - 1$$
 Find $f(x)$

$$\chi = \sqrt[3]{y+1}$$

$$D(\vec{f}) = IR = R(f)$$

$$f:D\longrightarrow R$$

$$f: D \longrightarrow R$$

$$f:D \longrightarrow R$$

$$f: R \longrightarrow D$$

$$\begin{pmatrix} c \\ c \end{pmatrix} = \frac{1}{a} = \frac{1}{b}$$

$$b = f(a)$$

$$\int_{\Gamma}^{-1} (b) = \frac{F(f(a))}{F(b)} = a$$

$$b = f(a)$$

$$f(b) = \frac{f'(a)}{f(b)} = a$$

$$f(b) = a$$

$$f(b) \times (f)(a) \times$$

$$f(x) = f(x) \text{ if } diff$$

$$df = f(a)$$

$$x = f(b)$$

$$f(a) \times f(b)$$

$$f(b) \times f(a)$$

$$f(a) \times f(b)$$

$$f($$

$$\frac{7.2}{9^{14}} \quad y = (\ln x)^{3}$$

$$y' = 3 (\ln x)^{2} \frac{1}{x}$$

$$y' = \ln \left[\ln (\ln x) \right]$$

$$y' = \frac{g(x)}{g(x)}$$

$$y = \ln (\ln x)$$

$$y = \ln (\ln x$$

$$|n| |u||^{3} = |n|^{3} - |n|| = |n|^{3} - 0 \quad \text{(h)}$$

$$|n| |u||^{3} = |n|^{3} - |n|| = |n|^{3} - 0 \quad \text{(h)}$$

$$|n| |u||^{3} = |n|^{3} - |n|| = |n|^{3} - 0 \quad \text{(h)}$$

$$|n| |u||^{3} = |n|^{3} - |n|| = |n|^{3} - 0 \quad \text{(h)}$$

$$|n| |u||^{3} = |n|^{3} - |n|| = |n|^{3} - 0 \quad \text{(h)}$$

$$|n| |u||^{3} = |n|^{3} - |n|| = |n|^{3} - 0 \quad \text{(h)}$$

$$|n| |u||^{3} = |n|^{3} - |n|| = |n|^{3} - 0 \quad \text{(h)}$$

$$|n| |u||^{3} = |n|^{3} - |n|| = |n|^{3} - 0 \quad \text{(h)}$$

$$|n| |u||^{3} = |n|^{3} - |n|| = |n|^{3} - 0 \quad \text{(h)}$$

$$|n| |u||^{3} = |n|^{3} - |n|| = |n|^{3} - 0 \quad \text{(h)}$$

$$|n| |u||^{3} = |n|^{3} - |n|| = |n|^{3} - 0 \quad \text{(h)}$$

$$|n| |u||^{3} = |n|^{3} - |n|| = |n|^{3} - 0 \quad \text{(h)}$$

$$|n| |u||^{3} = |n|^{3} - |n|| = |n|^{3} - 0 \quad \text{(h)}$$

$$|n| |u||^{3} = |n|^{3} - |n|| = |n|^{3} - 0 \quad \text{(h)}$$

$$|n| |u||^{3} = |n|^{3} - |n|| = |n|^{3} - 0 \quad \text{(h)}$$

$$|n| |u||^{3} = |n|^{3} - |n|| = |n|^{3} - 0 \quad \text{(h)}$$

$$|n| |u||^{3} = |n|^{3} - |n|| = |n|^{3} - 0 \quad \text{(h)}$$

$$|n| |u||^{3} = |n|^{3} - |n|| = |n|^{3} - 0 \quad \text{(h)}$$

$$|n| |u||^{3} = |n|^{3} - |n|| = |n|^{3} - 0 \quad \text{(h)}$$

$$|n| |u||^{3} = |n|^{3} - |n|| = |n|^{3} - 0 \quad \text{(h)}$$

$$|n| |u||^{3} = |n|^{3} - |n|| = |n|^{3} - 0 \quad \text{(h)}$$

$$|n| |u||^{3} = |n|^{3} - |n|| = |n|^{3} - 0 \quad \text{(h)}$$

$$|n| |u||^{3} = |n|^{3} - |n|| = |n|^{3} - 0 \quad \text{(h)}$$

$$|n| |u||^{3} = |n|^{3} - |n|| = |n|^{3} - 0 \quad \text{(h)}$$

$$|n| |u||^{3} = |n|^{3} - |n|| = |n|^{3} - 0 \quad \text{(h)}$$

$$|n| |u||^{3} = |n|^{3} - |n|| = |n|^{3} - 0 \quad \text{(h)}$$

$$|n| |u||^{3} = |n|^{3} - |n|| = |n|^{3} - 0 \quad \text{(h)}$$

$$|n| |u||^{3} = |n|^{3} - |n|| = |n|^{3} - 0 \quad \text{(h)}$$

$$|n| |u||^{3} = |n|^{3} - |n|| = |n|^{3} - 0 \quad \text{(h)}$$

$$|n| |u||^{3} = |n|^{3} - |n|| = |n|^{3} - 0 \quad \text{(h)}$$

$$|n| |u||^{3} = |n|^{3} - |n|| = |n|^{3} - 0 \quad \text{(h)}$$

$$|n| |u||^{3} = |n|^{3} - |n|| = |n|^{3} - 0 \quad \text{(h)}$$

$$|n| |u||^{3} = |n|^{3} - |n|| = |n|^{3} - 0 \quad \text{(h)}$$

$$|n| |u||^{3} = |n|^{3} - |n|| = |n|^{3} - 0 \quad \text{(h)}$$

$$|n| |u||^{3} = |n|^{3} - |n|| = |n|^{3} - 0 \quad \text{(h)}$$

$$|n| |u||^{3} = |n|^{3} - |n|| = |n|^{3} - |n|| = |n|^{3} - |n|| = |n|^{3} - |n|| = |n|^{3} - |n| = |n|^{3} - |n| = |n|^$$

$$X = \begin{pmatrix} 3 \\ 4 \end{pmatrix}$$

$$Y = \begin{pmatrix} 3 \\ 4$$

STUDENTS-HUB.com

Uploaded By: Malak Obaid

(5) Sketch
$$f$$
, f

$$f(x) = \frac{3x}{x-1}$$

$$\lim_{x \to \infty} f(x) = \frac{3x}{x-1}$$

$$f(x) = \frac{3x}{x-1}$$

$$\lim_{x \to +\infty} f(x) = \frac{3}{x}$$

$$\lim_{x \to +\infty} f(x) = \frac{3}{x}$$